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A(®)  B(b).c(c).n(d)
o) =4.|d/=3d|=4 b-c=0, b-d=[p|d|cos60°=8, c-d=|c =9
D-ABC D ABC
AH =sb +tc

DH = AH ~ AD =sb +tc —d
AB DH  AB-DH =0
b-(sb+tc-d)=0  s[b| +tb-c-b-d=0
16s-8=0 s:%
AC DH AC-DH =0
¢-(sb+tc-d)=0  sb-c+tlef ~c-d=0
9t-9=0 t=1

DH :§5+a_a
orl =5 +[cf +[af +b.c-2¢-d-b-d=3
4
DH =+/3

Y Z%XAABCX DH :%x%x3x4x\/§:2\/§

XY,z 3 a,b,c
a-b,b-cc-a
s=1 t=1 D
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A(0,0,0) B,C X, y B(4,0,0), C(0,3,0)
D(x,y,z) (z>0)
DA=4 XX +y*+27°=16 ...
DB =4 (x—4) +y* +2°=16 ...

DC?=DA*-DB?=4>-3=7
XX+ (y-3)°+2°=7

X=2 y=3
=3 D — ABC h=3
1 1 1
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D DC
BFC BC
BC
3 1 P(P=D=E=F)
P ABC
H AB 1 AC DH L EH
EH AB Q Q AB
AQ:%AB:Z
ACD

CD=+AD? - AC? =+/4? 32 =7

2
PH? =PC? —~CH? =CD? - AQ” =(\/7) -2 =3

PH =3

v =3AABC-PH::EXEAB-AC-PH::3x3x4x3xd§=2J§
3 32 32
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o AB
a
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3
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PH? = AP? - AH? = AB* - AH? =4° -

PH =02

J7

Vv ; AACD_é 4J— L 3T =243

P-ACD
P - AEB P
AE y

AM :ME = AC?:CE?=9:7
M[ﬁ,_ﬂ] cm

_ﬁ(x_gj N3 _3 33

8 3 2
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D - ABC
A
ABCD X
BC =20cm, CD =15cm,
AD//BC, /ADC =90°
AC BD H
Z/CHD = 90° B c
/BHD =90°
DABC |
21
)
/BCD =90° BCD
BD?=BC2+CD?=625 BD>0 BD =25
/CHD =90° ABCD ACHD
CD?
BD:CD=CD:DH DH = =9
BD
/BHD =90° DH ABC E
DABC v
1 1 1 11 A D
V =-DH-AABC ==DH x=BC -CD == x9x = x 20x15 = 450 (cmz)
3 3 2 3 2
AB,C,D
B C
E BE
ABC C

H BC =a,CA=b,AB=c
AH :HB:|b2+cz—a2|:|cz+a2—b2|

AH :HB = AC|cos ZCAB|: BC |cos ZCBA|

:b|b2+cz—a2|:a|cz+a2—b2|

| 2bc || 2ca |

:|b2+cz—a2|:|cz+a2—b2|

ZACB =90° a’+b?=c?
AH :HB =0 + (a° +b*) - a’|:|(a’ +b*) +a* —b*| =b* : &’
BH:HD=BC?:CD?=20?:15" =16:9
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3 3
2
AHZ:ACZ—CHZ:CPZ—CHZZf_{E%EJ:Jg
Q
AH =2 v
3
\/:%AH ABCD ==x—x6=— (cm®)
AMN A-BMN
A-BCD AH
M,N BC,BD ABMN :ABCD =1:2%=1:4
A—BMN =EV=3(UM)
4 3
B
CQD PCB RDB
C,D BQ B-CQD
BQ=PQ=4
B-CQD V&
1 1 1 8
V' =ZACOD-BQ=="x2x2x=—x4=—
3 QD-BQ 3 2 3
BCD ABMN :ABCD =1:4
1 2
B-CQD =-Vv'==Z
Q 4 3
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OABC
2009 19
OA,0B,0C o)
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0(0). A(a).B(b).c(¢)
dl=s =4, [§-5 a-B-6v2 b-i-10, ¢.3-122
OH =sa+tb CH=sa+th—-c
CH OACH OB
3J2s+4t=5 3J25+8t=5
5
S=——=, t=0
32
5 - 4 5
CH=|—a-cl=—
‘3\/5 V2
l - —12 - =\2
AOAB_E ‘a‘ ‘b —(a b) =32
OABC Vv
V=2A0AB-CH = 1x3y2x—> 5
3 3 J2
)
AOBC P-OBC ( P=A)
OAC OAB A 0B,0C H
ZAOB = ZAOC = 45°
OH «BOC
OB AH Q
1 3
OA:0Q=+2:1 0Q=-——0A=——
V2 V2
ZBOH =30°
OQ:OH =+/3:2 OHziOQ:ixi:\E
J3 3 2
H P
2
PH’ =OP* -OH” =3 -(V6) =3 PH =43
OBC OB h  ZCOB=60°
h—ocx Y3538 A0BC = thoB =133 453
2 2 2 2" 2
P-OBC Vv

Y :%AH -AOBC:%X 3x53=5

OCA OBA 0]
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